labomm

AR K

BUbg BT

FAME CTEHD, WAL G
BE

EEEk
- AN, BREUIE, AEEE No.
1.4301, 1P67

- B B, B WA MARSUE, 5
%, 1P54, FRifk

- BN B, 1RLUE, BRI, IP54
(BK)

- B B, ¥ HEIRS, B
J5i 1P65 (BUZ)

- B3N B, S 55 A PR O,
A7, P65 (BUS)

- B3 B, s 5 A AR AL,
A7, IP65 (BUZH)

- B B, s a A AR AL,
FH T 223 PH1510 3t 5%

FH RH I T Pt 100
AT ERMBIZ AN B5R5] GA254 .

B R

W & HPH Pt 100, 3 B 4 £ HpRERE

NN
SN DB A 2 ] B 4

QESE3es

N T S 25 A SR 1 I R %
TA®R, gitikiH ks EHEDG &l
AT HE LR RISk CHRUE S B

FLBH IR P THE A T ARV E B (R AE . B b I R 42 07 UK
AR ROV H IR BT, JCHGE TR /25 A R 2 14
ARRE. HEMR, IR EEE R, W] DA SR

RIFFE AR HESS 5 -
3 AN R R AR 7

HAT B2

EE

ANEFAN No. 1.4571 B¢ No. 1.4404
B 91 5 11> mm

KB AT £ 4550

TEHFENI S
ANEM T, P, DIN 43762
HLFH Pt100 574 EN60751

FE IR 1B R LR T K
AT T2

AL IR

P54/ Pt 100 2532 28 0] DASE R T-4%
e, VREILIT BRI

Data Sheet: T4-024

2 FPAN[F] (A IE 45 ] ik B 2228 T TR, BL

SEER

- DIN11851 5 A F %} R B

- R AIER RS DIN32676
- R AGERRT S 1502852
- Varivent

- Neumo BioControl

- BEEHA IEHEER 30>40mm
- T PAER

N EEAY

A LR
TREERAM T : ANE540 No. 1.4404

RIEHREE

FrifE: RIMFKEE Ra<l.5pm
PAR: RIEMFEE Ra<0.8um
JE$E: <1.5um



connection heads

mode| B, cap with
2 slotted screws
mat. aluminium, IP 54

f. cable @9-14

up to sealing surface

model BUZH, high spring cover
with slotted screw,
mat. aluminium, [P 65

f, cable o9-14

~120(BUZH)

up to sealing surface

connection head field housing,

screw cap,
mat, stainless steel , [P 67

@60

connection head field housing,
screw cap with opening,
mat. stainless steel , [P 67

@60

|
Y
15

tl_'|

up lo sealing surface

[1e]

circular connactor
M12x1

LL]

i

un
m fe)
N 4

/B
\ A

19

il

M

up to sealing surface

process connactions

tapered coupling with
groove union nut
aseptic design per DIN 11864-1

tapered coupling with
groove union nut
per DIN 11851

Tri-clamp connection

clamp connection
per DIN 32676
or |SO 2852

thermowell with
welding ball 30x40 mm

cable gland M12x1
f, cable @3-5,5

e

AN
37

cable gland M16x1.5
f, cable a4, 510

Data Sheet: T4-024

- i - N
] [T s i
W Tk o = i
5 i G > | 5 5 gda O | eda 5
DF1 »F1 2F1 21 eF
G1A dead-zone free Varivent connection NEUMQ BioCaontrol CDE;U"Z‘;C“F;: per ITGOLE: neck tube according to DIN 43772
(conical taper af metall) with coupting nu
a4t similar model 3
é“]‘ i ? model 2 reduced tip
= N [ 1
= .:‘[:L. z HIH HH = ] 1 g oF
= e ' ' v . 5 il
Ly — -
o = T o™
oF" OF1 oF1 OF1 i Gl
connection head circular connector
M12x1
P1100 2-wire Pt100 3-wire Pt100 4-wire 2xPt100 2-wire 2xPt100 3-wire
2 2 22 2 % 3 2 8% 3
8 E I 88 £% 8 - 3 88 £33 %
1 2 62 1 12 43 1 23 4 15 2 46 3
G- D Qe
I I I I L v L v



BRERSY - 4 R AL S R -

FRHIE BETT Pt100 AT & &/H1Z5/4A40 GA254.
gy |- JOBIE 0
BT e BRI T 1
st |- PHE -
RIEERIL [ T vnT (R D1-030) AY
.DN 25 A121066
HEE R 98445 7% | DN 32 A121068
Zh R +FE DIN11851 | DN 40 A121070
.DN 50 A121072
.DN 25 A141066
4 DIN32676 |. DN 40 A141070
.DN 50 A141072
1" A145083
e .11/2" A145084
4 1502852 o ALA5085
.21/2" A145086
Varivent #h7% . D =50, FT Varivent §F5% DN25 i 1" A151060
HERAE .D =68, HT Varivent #b5% DN40...DN125 #l1 1 1/2"...6" | A151061
et .Gr. 25 A161066
%ﬁ%ﬁ%g BioControl (Neumo)|. Gr. 50 A161072
N ﬂ’;ﬁgﬂ‘m _Gr.65 A161073
EE A EER | 3040mm A191010
.DN 25 B121166
T .DN 32 B121168
DIN11850 #i# |. DN 40 B121170
%ﬁ%ﬁa@i& .DN 50 B121172
2 N11864- .DN 25 B121266
Iﬂ:ﬁé%ﬁ TEX] R 1801127 |. DN 32 B121268
ok A B . DN 40 B121270
Ll B - AT 121583
> . 4 mm
Eﬁ@;%‘ﬁiﬁ 112" (38 mm) B121384
‘Ao (e | |27 (38 mm) B121385
. 21/2" (63.5 mm) B121386
FRBR A9999
.F1=9mm, E& 97 C12.....
Fl=11mm, % 11/7 C13.....
E® O [ 97, & F3=050mm, ID 3.5mm C16.....
.12, A81% F3 = $9>40mm, ID 6.5mm C17.....
Jo R C99.....
. EF AN No. 1.4571 1
MR | A No. 1.4404, ANIREFTA R 2
FBR 9
.M =80mm 1
e . M =145mm 2
R R 9
BAKE UL AN EKEE 15
FE M=80mm  [Fi¥& M=145mm
35 mm 125 mm 190 mm 035
50 mm 140 mm 205 mm 050
BAKSE {100 mm 190 mm 255 mm 100
160 mm 250 mm 315 mm 160
250 mm 340 mm 405 mm 250
400 mm 490 mm 555 mm 400
J9F 7 ] 999
L F1=9mm, fRYER 9/7, NHEHIM I 1. 4404 (316L) D1
SR @ (oo Lmm (RIVE T 117 ANHIMT: 14571 (316Ti) _ D2
; . 9/7,j fifkikit, fiiE F3=05X20mm, ID3.5mm, ANEEMIHi: 1.4404 (316L) D6
JEER D9
NE | PN -50...+400°C, fRIEIRWETHOR  6mm M™% ik BEb i bn Ak M22
siffiai | AP FEDINENGOTSL 505600, W% om bR EE M25
.1>Pt1003 28, ke (BF 2 i) N2
o me g |- 1P 1004 2§ N3
R 2>Pt 100 2 % N4
.2>Pt1003 2§ N5
B, AW NRLOE, 45, IP54, hiiE Ti11
B, BauE, BEME, IP54 (BK) T31
B, HERNAAEEA, R, IP65 (BUZ) T12
s | BB, shEman A PR BB, 45, IP65 (BUS) T13
BB, migh s A AIEL, FR5, IP65 (BUZH) T15
.BER, m#%F% (BUZH) T %% PH1510 B2k T18
. AN, I2AuiE, RAE4W No. 1.4301, 1P67, KAt T45
Ry ek (A 5 22 4 Hj)kk
i | A2 HiB%, 75 DIN VDE 0165 (EN 60079) S60
.11 2G EEx ia IIC T4/T6 568
8 AR | RIS . (&8O Z1
(WD | 234 BUZH R &Pt L B Z2
[N Es W4...
o FE R 035
T A kAR ) F B R R M, S 3 A A TS 057
FBHIE S Wi1...
FBHIE 428 EN10204-3.1 B 020
S LD W12...
6 7k P EN10204-3.1 B, F THRE s i 25 4% 23
TR (Bl [GA2540] [ A121066 | C1311100 [D2[M22] N2 [T45]

Data Sheet: T4-024




Data Sheet: T4-024



